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STATISTICS

1. Find the mean deviation using arithmetic

mean of the following data:

16,22,26,14,12,15,13,18,


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Ql95Ke20wfWo

° View Text Solution

2. Find the deviation using median of the
following observations:

15,19,20,28,16.

° View Text Solution

3. Find the mean deviation using arithmetic

mean from the folloiwng observations:


https://dl.doubtnut.com/l/_Ql95Ke20wfWo
https://dl.doubtnut.com/l/_XLkWHobH290H
https://dl.doubtnut.com/l/_ZOo1w4eNQ70a

o View Text Solution

4. Find the mean deviation using meadian

from the following data:

Term 10203040 {5060} 70]80
frequency | 10| 15|20 50|40} 30| 20 |10.

o View Text Solution



https://dl.doubtnut.com/l/_ZOo1w4eNQ70a
https://dl.doubtnut.com/l/_op00HT8aWqhx

5. Find the mean deviation using arithmetic

mean from the following table:

Class- 0-10{10-20{20—-30{30-40{40-50
interval

Frequency 5 6 15 16 6

o View Text Solution

6. Find the mean deviation using median:

Class- 0-10 [10-20/20-30|30-40 40—50]
interval
Frequency 5 12 20 9 4

o View Text Solution



https://dl.doubtnut.com/l/_sZYtvzSaK1sA
https://dl.doubtnut.com/l/_zJiqwyiVxVkn

7. Find the mean

method.

deviation by short cut

Class-interval __Frequency
10-20 2
20-30 3 __
30-40 8
40-50 14
50—-60 8
60—70 3
70—80 2

o View Text Solution

8.

8,11,14,17,20,23,26.

Find the

standard

deviation

of


https://dl.doubtnut.com/l/_u67L9TpAUGpq
https://dl.doubtnut.com/l/_nBJ1oyvOkzGQ

° View Text Solution

9. Find the variance and standard deviation

from the following data:

T x; p) 2 | 6 8 10
£ 7 5 7 3 2

° View Text Solution

10. Find the standard deviation from the

following observations:

15,18,13,20,17,10,16,19,22,20.



https://dl.doubtnut.com/l/_nBJ1oyvOkzGQ
https://dl.doubtnut.com/l/_20SjMO4WTXRR
https://dl.doubtnut.com/l/_DyEh3TeW2vx4

\ ° View Text Solution

11. Find the standard deviation from the

following data:

X; 1 2 3 4 5
fi 16 | 21 10 | 7 8

° View Text Solution

12. Find the standard deviation by using 20 as

assumed mean.


https://dl.doubtnut.com/l/_DyEh3TeW2vx4
https://dl.doubtnut.com/l/_RELsnEucoAfd
https://dl.doubtnut.com/l/_fK63k3qxsi87

Class- 0-10{10-20{20-30}30-40{40-50
interval

Frequency 3 6 13 10 5

° View Text Solution

13. The arithmetic means of two distributions
are 10 and 15 and their S.D. are 2 and 2.5

respectively. Find their coefficient of variation.

° View Text Solution



https://dl.doubtnut.com/l/_fK63k3qxsi87
https://dl.doubtnut.com/l/_HY1bsHEjwLby

14. The mean and S.D. of the income of the

employers of two banks are as follows:

Bank | Mean income (in %) S.D. (in?)
A 3200 160
B 3500 140

Compare the coefficient of variation of the

income of the employees of the two banks.

o View Text Solution



https://dl.doubtnut.com/l/_vOifofh4n5yG

1. Find the mean deviation using arithmetic
mean for the following observations:
(a) 68,32,49,54,21,38,59,41,66,76

(b) 28,12,17,35,22,18,5,32

o View Text Solution

2. Find the mean deviation using median for
the following observations:
(a) 17,25,9,12,18,26,21

(b) 6,10,11,15,9,7,15,16,5


https://dl.doubtnut.com/l/_jtQ1g3RI7lkY
https://dl.doubtnut.com/l/_zw10fyvZfEbv

(c) 2,4,6,8,10,9,15,12,3,7
(d) 28,32,31,25,22,12,17,26

(e) 5,7,17,9,19,11,18

o View Text Solution

3. Find the mean deviation using arithmetic

mean for the following

@] xi 10 20 30 | 40 | 50
fi 1 2 3 3 1

| x | 10| 15| 20 | 30 | 40 | 50
fi 8 121151101} 3| 2

° View Text Solution



https://dl.doubtnut.com/l/_zw10fyvZfEbv
https://dl.doubtnut.com/l/_HXJnNRgSSrmT

4. Find the mean deviation using median for

the following datas:

(@ | x [13]14]15]16|17 1811920
fil1]2]3]4]|5(4]13]2

) [x; [21]22]23]24]25]|26]27]|28]29]30
fil7]olsls]elala]|3]0]1

o View Text Solution

5. Find the mean deviation using mean for the

following datas:


https://dl.doubtnut.com/l/_XMVpXxRDlBqB
https://dl.doubtnut.com/l/_BRiVz5PXBM0Y

(a) Class- f,
interval

40 50 19

IR
BT

70 80 72

80 90 51

| 90100 47

(b) Class- | 010 [1020120-30]30-40140-50
interval

f; 12 115 14| o | 3
(¢) Class- 10 20120 40 [40-60 | 60-80 |80-100
interval
1 Y 11 9 7 5

o View Text Solution

6. Find the mean deviation from median for

the following tables:


https://dl.doubtnut.com/l/_BRiVz5PXBM0Y
https://dl.doubtnut.com/l/_WYQsNKxT4kKb

(a) Class-interval

fi

20-27 9
27-34 16
34-41 12
41-48 26
48-55 14
55-62 12
62-69 11
(b) | Class-interval fi
25-30 18
30-35 27
35-40 39
40-45 42
45-50 33
50-55 21
(c) | Class-interval fi
0-20 6
20-40 8
40-60 14
60-80 16
80-100 4
100-120 2

° View Text Solution



https://dl.doubtnut.com/l/_WYQsNKxT4kKb

7. Find the mean deviation from the short cut

method.
(a) [ Class-interval f
0-10 %
10-20 12
20-30 18
30-40 | 3g
40-50 17
50-60 14
(b) Class-interval f,
~ 0-50 12
,,,,, >0-100 18
100-150 25
1_‘50-200 | 21
200-250 16
‘250-300 8

o View Text Solution



https://dl.doubtnut.com/l/_WYQsNKxT4kKb
https://dl.doubtnut.com/l/_EonFhkm5kSqT
https://dl.doubtnut.com/l/_PVnLRUxDyOZk

8. Find the standard deviation from the
followig datas:

(a) 10,20,30,40,50,60

(b) 80,85,100,110,82,97,93,95,88,140

(c) 5,15,25,35,40,45,55,60

(d) 4’5’7’4’3 ’2’4’8’4

o View Text Solution

9. Find the standard deviation from the

following datas:


https://dl.doubtnut.com/l/_PVnLRUxDyOZk
https://dl.doubtnut.com/l/_Qgsq7VPTKV8K

(@| x; 0 2 4 6 8 10

b)) x| 6 7 8 9 |10 | 111} 12

@] x 5 10 15 20 25
fi 5 6 12 16 11

o View Text Solution

10. Find the standard deviation from the
following datas, using assumed mean:
(a) 112,117,121,125,130

(b) 37,43,48,34,41,39,46,40

o View Text Solution



https://dl.doubtnut.com/l/_Qgsq7VPTKV8K
https://dl.doubtnut.com/l/_MmobaAQ8YjGW

11. Find the standard deviation from the

following datas, using assumed mean:

@] x; 8 12 16 20 24 28
fi 9 11 17 14 6 3

M x |5 110]15}20]25|30}35]40
fil12117124121114] 6 | 4| 2

o View Text Solution

12. Find the standard deviation from the

following datas, using assumed mean:


https://dl.doubtnut.com/l/_modSbhw3eDAR
https://dl.doubtnut.com/l/_uByIlNT1Jrv6

(2) | Class-interval Frequency
10-30 7
30-50 11
50 70 12
7090 | 6
00-110 11
(b) | Class-interval |  Frequency
18—24“* N 13 N
24 30 ,‘ - “‘"l';;”“‘“‘“
30 3()4 o 206
36 42 . m—l.-r) ]
4248 [l
48 H4 7/ N

o View Text Solution

13. The mean and variance of 5 observations

are respectively 44 and 824. If three


https://dl.doubtnut.com/l/_uByIlNT1Jrv6
https://dl.doubtnut.com/l/_pRYmBErUEcwu

observation are 1,2 and 4 then find the

remaining two observations.

o View Text Solution

14. The mean and variance of 8 observations
are respectively 9 and 9.25. If six observations
are 4,6,7,8,12 and 13 then find the remaining

two observations.

o View Text Solution



https://dl.doubtnut.com/l/_pRYmBErUEcwu
https://dl.doubtnut.com/l/_f9ULKQlDl211

15. The mean and standard deviation of 100
observations were calculated as 40 and 5.1
respectively by a student who took by mistake
50 instead of 40 for one observation. What are

the correct mean sand standard deviation?

o Watch Video Solution

16. The mean and standard deviation of 20
observations are found to be 10 and 2,

respectively. One rechecking, it was found that


https://dl.doubtnut.com/l/_kacp4s6b7P66
https://dl.doubtnut.com/l/_t34dWXh74fEz

an observation 8 was incorrect. Calculate the
correct mean and standard deviation in each

of the following cases. (i) If

o Watch Video Solution

17. Calculate the mean and standard deviation

of first natural numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_t34dWXh74fEz
https://dl.doubtnut.com/l/_c4V5bOEJRlK8

18. Find the mean, variance and standard

deviation of first n natural numbers.

° Watch Video Solution

19. Find out the standard deviation from the

following distribution table:

Class- |0-10 [10-20| .0-30 ~n-40\40-5ﬂ
interval |
Frequency| 6 9 12 8 15 J

o View Text Solution



https://dl.doubtnut.com/l/_rlCSn0reByro
https://dl.doubtnut.com/l/_Chf2iQ2VIFAV
https://dl.doubtnut.com/l/_6czzzCtJ6w2S

20. If the coefficients of variations for two

distributions are 40 and 50 and their S.D. are

16 and 25 respectively. Find their means.

o View Text Solution

21. Find which group is more variable:

Class-interval Group A Group B \

0-10 15 18 |

10-20 17 20 |
20-30 22 24
30-40 18 22
40-50 14 17
50-60 10 12
60-70 4 7

° View Text Solution



https://dl.doubtnut.com/l/_6czzzCtJ6w2S
https://dl.doubtnut.com/l/_6tnml6LJHIiv

22. The arithmetic means of two distributions
are 20 and 35 and their S.D. are 5 and 7

respectively. Find their coefficient of variation.

o View Text Solution



https://dl.doubtnut.com/l/_6tnml6LJHIiv
https://dl.doubtnut.com/l/_Fp7Ibw0Am1ia

23. Find which group is more variable:

Class-interval Group X Group Y
0-5 6 4
5-10 12 8
10-15 17 15
15-20 13 11
20-25 9 8
25-30 3 4

o View Text Solution

24. In the following table, the mean and S.D. of
the income of the employees of two factories

are given. Find the variability of their average


https://dl.doubtnut.com/l/_TMCUwN67tYbI
https://dl.doubtnut.com/l/_mfhtz5plwjLQ

income.

Factory Mean (in 2) S.D.(in?)
P 1200 150
Q 1600 160

o View Text Solution

Ncert Questions

1. Find the mean deviation about the mean for

the data: 4,7, 8,9, 10, 12, 13, 17

° Watch Video Solution



https://dl.doubtnut.com/l/_mfhtz5plwjLQ
https://dl.doubtnut.com/l/_rtVQUCZYGdSS
https://dl.doubtnut.com/l/_9SV21fE5DXrJ

2. Find the mean deviation about the mean for
the data is Question:

38,70,48,40,42,55,63,45,54,44

o View Text Solution

3. Find the mean deviation about the median
for the data

13,17, 16, 14, 11, 13, 10, 16, 11, 18, 12, 17

o Watch Video Solution



https://dl.doubtnut.com/l/_9SV21fE5DXrJ
https://dl.doubtnut.com/l/_CHkNTWubdIFi
https://dl.doubtnut.com/l/_fZ0GZVDvscAq

4. Find the mean deviation about the median
for the data

36, 72, 46, 42, 60, 45, 53, 46, 51, 49

o Watch Video Solution

5. Find the mean deviation about the mean for

the data is Question:

x; | 5|10)15]20]25
fil7]1416|3]|5

o View Text Solution



https://dl.doubtnut.com/l/_fZ0GZVDvscAq
https://dl.doubtnut.com/l/_QqrgylMj2N3N

6. Find the mean deviation about the mean for

the data is Question:

X

10

30

50

70

90

fi

4

24

28

16

o View Text Solution

7. Find the mean deviation about the median

for the data in Question

X

E

7

9

12

115

7



https://dl.doubtnut.com/l/_D5l4pmc1cpv4
https://dl.doubtnut.com/l/_hjjl5PobD43K

\ o View Text Solution

8. Find the mean deviation about the median

for the data in Question

x; |15 21]27]30]35
fil3]s|6]|7]|8

o View Text Solution

9. Find the mean deviation about the mean for

the data in Question:


https://dl.doubtnut.com/l/_hjjl5PobD43K
https://dl.doubtnut.com/l/_mzYCawEncAY9
https://dl.doubtnut.com/l/_fwKu3KylXsIk

Income | 0- |100-|200-|300-|400-|500- | 600- |700-
per day|100{200 | 300 | 400 | 500 | 600 | 700 | 800

Number

of |4|8|9|10|7|5]| 4]3
persons

° View Text Solution

10. Find the mean deviation about the mean

for the data in Question:

Height | 95- | 105- | 113- | 125- | 135- 14571
(inecm) | 105 | 115 | 125 | 135 | 145 | 155
Number
of boys

o View Text Solution



https://dl.doubtnut.com/l/_fwKu3KylXsIk
https://dl.doubtnut.com/l/_U4Dp18qWe6FM
https://dl.doubtnut.com/l/_IZDsMcuZiu7R

11. Find the mean deviation about median for

the following data:

Marks | 0-10 [10-20(20-30|30-40|40-50|50-60

Number ,
of girls 6 8 14 16 4 .X”' 2

o View Text Solution

12. Calculate the mean deviatioin about

median age for the age distribution of 100


https://dl.doubtnut.com/l/_IZDsMcuZiu7R
https://dl.doubtnut.com/l/_xNoGOheJg62H

persons given below:

Agein | 16- | 21- | 26- | 31- | 36- | 41- | 46- | 51-
years | 20 | 25 | 30 | 35|40 | 45 | 50 | 55

12114 12611216 | 9

Number| 5 6

o View Text Solution

13. Find the mean and variance for each of the

data: 6, 7, 10, 12, 13, 4, 8, 12

o Watch Video Solution



https://dl.doubtnut.com/l/_xNoGOheJg62H
https://dl.doubtnut.com/l/_Xy7vAhunGhZY

14. Find the mean and variance for each of the

data : First n natural numbers

o Watch Video Solution

15. Find the mean and variance for each of the

data : First 10 multiples of 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_OqSBapGn6ba7
https://dl.doubtnut.com/l/_hfhPsHI2BI1N

16. Find the mean and variance for each of the

data in Question:

- X

A |

6

10

14

18

24 |28 |30 |

fi

4

7

12

o View Text Solution

17. Find the mean and variance for each of the

data in Question:

Xi

92

93

97198

102

104

109 |

fi

3

2

312

3 |



https://dl.doubtnut.com/l/_I7zYlPdMiDpT
https://dl.doubtnut.com/l/_iuyZhejHsqIz

I 0 View Text Solution I

18. Find the mean and standard deviation

using shout-cut method.

x; |60 61 |62|63|64]|65|66|67|68
fil 2112129251212 4 | 5

o View Text Solution

19. Find the mean and variance for the

following frequency distributions in


https://dl.doubtnut.com/l/_iuyZhejHsqIz
https://dl.doubtnut.com/l/_3IAAEEbu661e
https://dl.doubtnut.com/l/_QOLPGw9rNjl9

0- |30- ] 60- | 90- |120-|150-{180-
Classes | 30 | 60 | 90 | 120|150 | 180|210

Frequencies| 2 3 5 10} 3 5 2

o View Text Solution

20. Find the mean and variance for the

following frequency distributions in

Classes | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 |
Frequencies| 5 8 15 16 6 |

° View Text Solution



https://dl.doubtnut.com/l/_QOLPGw9rNjl9
https://dl.doubtnut.com/l/_z97azSsiQPAj

21. Find the mean variance and standard

deviation using short-cut method

Height  |70-|75-/80-|85-|90-| 95- {100-{105-{110-
(in cm) 75!80(85(90(95/100{105[110{115

No. of
children

347|715/ 9|6 |63

o View Text Solution

22. The diameter of circles (in mm) drawn in a

design are given below:

Diameters |33-36|37-40|41-44 | 45-48 | 49-52
No. of circles | 15 17 21 22 25



https://dl.doubtnut.com/l/_htsKyE2VtrUJ
https://dl.doubtnut.com/l/_DJp4J8evwB8f

Calculate the standard deviation and mean

diameter of the circles.

° View Text Solution

23. From the data given below state which

group is more variable A or B?

Marks|10-20|20-30{30-40{40-50/50-60{60-70 70-80,

G
’Z“P 9 | 17 | 32 | 33|40 | 10| ©

Grgup 10 | 20|30 | 25|43 | 15| 7

o View Text Solution



https://dl.doubtnut.com/l/_DJp4J8evwB8f
https://dl.doubtnut.com/l/_gqu491AkZKAD
https://dl.doubtnut.com/l/_R1pRpBfrL6HE

24. From the prices of shares X and Y below,

find out which is more stable in value

° Watch Video Solution

25. An analysis of monthly wages paid to
workers intwo firms A and B, belonging to the

same industry, gives the following results:

FirmA | FirmB |
No. of wage earners 586 648

Mean of monthly wages ¥ 5253 3 5253 \
Variance of the distribution | 100 {121 of wages |

(i) Which firm A or B pays larger amount as

monthly wages?


https://dl.doubtnut.com/l/_R1pRpBfrL6HE
https://dl.doubtnut.com/l/_VZt5MXkzzi0E

(i) Which firm A or B shows greater variability

in individual wages?

° Watch Video Solution

26. The following is ht record of goals scored
by team A in a football session For the team b,
mean number of goals scored per match was 2
with a standard deviation 1.25 goals. Find
which team may be considered more

consistent?

° Watch Video Solution



https://dl.doubtnut.com/l/_VZt5MXkzzi0E
https://dl.doubtnut.com/l/_Ryk1a5pJiqjf

27.The sum and sum of square corresponding
to length  (in cm) and weight y (in gm) of 50

plant products are given below:

50 50 50
d w; =212, ) 22 =0902.8, ) y; = 261
i=1 i=1 i=1

50
Y y? =1457.6
1=1

Which is more varying , the length or weight?

o View Text Solution

Miscellaneous Exercise


https://dl.doubtnut.com/l/_Ryk1a5pJiqjf
https://dl.doubtnut.com/l/_D9osn27JnKKa
https://dl.doubtnut.com/l/_w6cVi0i3oLyl

1. The mean and variance of eight observations
are 9 and 9.25, respectively. If six of the
observations are 6, 7, 10, 12, 12 and 13, find the

remaining two observations.

o Watch Video Solution

2. The mean and variance of 7 observations are
8 and 16, respectively. If five of the
observations are 2, 4, 10, 12, 14. Find the

remaining two observations.

I o Watch Video Solution


https://dl.doubtnut.com/l/_w6cVi0i3oLyl
https://dl.doubtnut.com/l/_8CiuJDnqXJAc

3. The mean and standard deviation of six
observations are 8 and 4, respectively. If each
observation is multiplied by 3, find the new
mean and new standard deviation of the

resulting observations.

o Watch Video Solution

4. Given that Z is the mean and o2 is the

variance of n observations


https://dl.doubtnut.com/l/_8CiuJDnqXJAc
https://dl.doubtnut.com/l/_gPnJvnAK2l5J
https://dl.doubtnut.com/l/_IIn7bR75OL6T

x1, x9, a€a€a€a€. x,. Prove that the mean
and  variance of the  observations
ari, ary, axs, a€a€a€a€. ax,, are ax and

a’c? , respectively, (a # 0)

o View Text Solution

5. The mean and standard deviation of 20
observations are found to be 10 and 2,
respectively. One rechecking, it was found that

an observation 8 was incorrect. Calculate the


https://dl.doubtnut.com/l/_IIn7bR75OL6T
https://dl.doubtnut.com/l/_4rbQOzlOTtgO

correct mean and standard deviation in each

of the following cases. (i) If

o Watch Video Solution

6. The mean and standard deviation of marks
obtained by 50 students of a class in three
subjects, Mathematics, Physics and Chemistry

are given below:

Subject | Mathematics | Physics | Chemistry

Mean 42 32 40.9
Standard
deviation 12 15 20

Which of the three subjects shows the highest


https://dl.doubtnut.com/l/_4rbQOzlOTtgO
https://dl.doubtnut.com/l/_yiVHohSG4VpO

variability in marks and which shows the

lowest?

° View Text Solution

7. The mean and standard deviation of a group
of 100 observations were found to be 20 and
3, respectively. Later on it was found that three
observations were incorrect, which are
recorded as 21, 21 and 18. Find the mean and

standard deviation if the

° Watch Video Solution



https://dl.doubtnut.com/l/_yiVHohSG4VpO
https://dl.doubtnut.com/l/_Q34e8Gnhmewb



https://dl.doubtnut.com/l/_Q34e8Gnhmewb

